

Journal Homepage: sciencesforce.com/nois



Neutrosophic Opt. Int. Syst. Vol. 4 (2024) 31-38

Paper Type: Original Article

SCIENCES FORCE

Some Aspects of Neutrosophic Set Theory

Adel Al-Odhari 1,2,* 问

¹ Faculty of Education, Humanities and Applied Sciences (Khawlan), Yemen.
 ² Department of Foundations of Sciences, Faculty of Engineering, Sana'a University. Box:13509, Sana'a, Yemen; a.aleidhri@su.edu.ye.

Received: 06 Jul 2024 **Revised:** 29 Aug 2024

Accepted: 28 Sep 2024

Published: 01 Oct 2024

Abstract

This article aims to introduce my work on constructing neutrosophic set theory. Neutrosophy is a new branch of mathematical systems proposed by Smarandache in 1995 as an extension of an intuitionistic fuzzy set according to three-degree membership functions. The new perspective of neutrosophic sets consists of two paths, the first path depends on the three degrees including the degree of truth-membership, degree of indeterminacy-membership, and degree of false-non-membership respectively, while the second path depends on the generated classical set by three types of neutrosophic sets and study the concepts of neutrosophic theory. In previous work, I Presented the concepts of neutrosophic sets including universal, empty, compliment, and subsets, denoted as $H_i^t[I]$, where *i* equals to 1,2 or 3. I also explored neutrosophic operations and their properties, such as neutrosophic unions and neutrosophic intersections. In this article, I shall delve into additional materials and theorems related to these concepts and discuss neutrosophic and symmetric differences, including their properties. Furthermore, I shall present a generalization of De Morgan's theorem.

Keywords: Neutrosophic sets $H_i^t[I]i = 1,2,3$; Neutrosophic Complement of Sets; Neutrosophic Difference of Sets; Neutrosophic Symmetric Difference of Sets.

1 | Introduction

In 1995, Smarandache introduced a new branch of philosophy, Neutrosophy Science. In this philosophy, the mathematical system neutrosophic includes indeterminacy in the set such $I_A(x)$ is called the indeterminacy for $T_A(x)$ or $F_A(x)$ on nonstandard interval $]^{0-}, 1^+[$ or single-valued [0,1] as a generalization of an intuitionistic fuzzy set. Neutrosophy is the base of neutrosophic logic, a multiple-value logic that generalizes intuitionistic fuzzy logic, and fuzzy logic respectively. For more information about the principle of neutrosophic philosophy, and extend the debate including; the thesis $\langle A \rangle$ and antithesis $\langle AntiA \rangle$ to get a synthesis, thesis $\langle A \rangle$ and antithesis $\langle AntiA \rangle$ to get a retrosynthesis $\langle NeutA \rangle$, neutrosophic system, and neutrosophic dynamic system. I refer to [1, 2]. In addition, for neutrosophic algebra structures based on the neutrosophic number of the form $N_1 = a + bI$, I is literal in indeterminacy, $I^2 = I$, and 0I = 0 used by scholars such as [4, 5]. In [6], I have tried to provide the necessary initial concepts for constructing the neutrosophic set theory as a generalization of set theory. Furthermore, I tried to construct from a classical set

Corresponding Author: a.aleidhri@su.edu.ye

https://doi.org/10.61356/j.nois.2024.4359

Licensee Neutrosophic Optimization and Intelligent Systems. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (http://creativecommons.org/licenses/by/4.0).

a neutrosophic set of three types $H_i^t[I]$, where i = 1,2,3, and a neutrosophic number in my work represents the first type that comes from any classical set, while $N_2 = \{a\} \cup aI$ and $N_3 = (a + bI) \cup \{a\}$ Represents the second and third types respectively. This article aims to complement and expand the previous work in [6] by presenting the complements of the neutrosophic set, the difference, and the symmetric difference of the neutrosophic set and presenting some of their properties. This work establishes the theory of neutrosophic set theory with [6] and reinforces previous work in [7-11].

2 | More Information on Subsets, Union, Intersection, and Power Neutrosophic Sets

In this section, I present more information on subsets, union, intersection, and power sets of neutrosophic sets of three types with some theorems and examples as extension concepts in [4].

Definition 2.1 [6] Let $H \neq \emptyset \subset U$ be a non-empty set, then;

- i). $H_1^t[I] = \{h_1 + h_2I: h_1, h_2 \in H\}$ be a neutrosophic set of type 1,
- ii). $H_2^t[I] = \{aI \cup \{a\}: a \in H\}$ be a neutrosophic set of type 2, and
- iii). $H_3^t[I] = \{(h_1 + h_2I) \cup \{h_1\}: h_1, h_2 \in H\}$ be a neutrosophic set of type 3, where I is an indeterminacy

Theorem 2.1 Let $H_i^t[I]$, $N_i^t[I]$, and $M_i^t[I]$ be three neutrosophic sets of type *i*, and *i* equals 1, 2, or 3. If $H_i^t[I] \subset M_i^t[I]$, and $H_i^t[I] \subset N_i^t[I]$, then

- i). $H_i^t[I] \subset M_i^t[I] \cap N_i^t[I]$, and
- ii). $H_i^t[I] \subset M_i^t[I] \cup N_i^t[I]$.

Proof (1). Let $H_i^t[I] \subset M_i^t[I]$, and $H_i^t[I] \subset N_i^t[I]$. Assume that $x \in H_i^t[I]$.

$$\therefore x \in H_i^t[I] \Rightarrow x \in M_i^t[I] \land x \in N_i^t[I]$$

$$\Rightarrow (\exists x_1, x_2 \in M) \land (\exists x_1, x_2 \in N), \text{ indeterminacy } I \text{ such that } x = x_1 + x_2I$$

$$\Rightarrow (\exists x_1, x_2 \in (M \land N)), \text{ indeterminacy } I \text{ such that } x = x_1 + x_2I$$

$$\Rightarrow (x \in (M_i^t[I] \land N_i^t[I]))$$

$$\Rightarrow (x \in (M_i^t[I] \cap N_i^t[I]))$$

$$\Rightarrow H_i^t[I] \subset M_i^t[I] \cap N_i^t[I]. \blacksquare$$

(2). By the same method.

Theorem 2.2 Let $H_i^t[I]$, $N_i^t[I]$, $M_i^t[I]$, and $O_i^t[I]$ be four neutrosophic sets of type *i*, and *i* equals 1,2 or 3. If $H_i^t[I] \subset N_i^t[I]$, and $M_i^t[I] \subset O_i^t[I]$, then:

- i). $H_i^t[I] \cup M_i^t[I] \subset N_i^t[I] \cup O_i^t[I]$, and
- ii). $H_i^t[I] \cap M_i^t[I] \subset N_i^t[I] \cap O_i^t[I]$.

Proof (1). Suppose that $H_i^t[I] \subset N_i^t[I]$, and $M_i^t[I] \subset O_i^t[I]$, for any i = 1,2,3.

Assume that, $x \in (H_i^t[I] \cup M_i^t[I]) \Rightarrow (x \in H_i^t[I]) \lor (x \in M_i^t[I])$ $\Rightarrow (x \in N_i^t[I]) \lor (x \in O_i^t[I])$

$$\Rightarrow x \in (N_i^t[I] \cup O_i^t[I])$$

$$\Rightarrow H_i^t[I] \cup M_i^t[I] \subset N_i^t[I] \cup O_i^t[I]. \blacksquare$$

(2) By a similar method.

Definition 2.2 [4] Let $H_i^t[I]$ be three neutrosophic sets of type *i*, and *i* equals 1,2 or 3.

The neutrosophic complement sets of type *i* are denoted by $\overline{H_i^t[I]}$, and defined by: $\overline{H_i^t[I]} = \{x: x \notin H_i^t[I] \land x \in U_i^t[I]\} = \{x: x \notin H \land x \in U\},\$

Definition 2.3 [6] Let $H_i^t[I]$ be three neutrosophic sets of type *i*. The neutrosophic power sets of type *i* defined by $\Im(H_i^t[I]) = \{N_i^t[I]: N_i^t[I] \subseteq H_i^t[I], i = 1,2,3\}.$

Theorem 2.3 Let $H_i^t[I]$ and $N_i^t[I]$ be two neutrosophic sets of type *i*, consider $\Im(H_i^t[I])$ and $\Im(N_i^t[I])$ are neutrosophic power sets of type *i*. Then

- i). $2^{H_i^t[I]} \cap 2^{N_i^t[I]} = 2^{H_i^t[I] \cap N_i^t[I]}$, and
- ii). $2^{H_i^t[I]} \cup 2^{N_i^t[I]} \subset 2^{H_i^t[I] \cap N_i^t[I]}$, for any i = 1,2,3, H and N are classical sets.

Furthermore,

 $\Im(H_i^t[I])$ or $2^{H_i^t[I]}$ represents the same notation of neutrosophic power sets of type *i*.

Proof (1). Assume that $E_i^t[I] \in \left(2^{H_i^t[I]} \cap 2^{N_i^t[I]}\right)$,

$$\Leftrightarrow \left(E_i^t[I] \in 2^{H_i^t[I]} \right) \land \left(E_i^t[I] \in 2^{N_i^t[I]} \right),$$

$$\Leftrightarrow \left(E_i^t[I] \subseteq H_i^t[I] \right) \land \left(E_i^t[I] \subseteq N_i^t[I] \right),$$

$$\Leftrightarrow E_i^t[I] \subseteq \left(H_i^t[I] \cap N_i^t[I] \right),$$

$$\Leftrightarrow E_i^t[I] \in 2^{H_i^t[I] \cap N_i^t[I]}$$

Hence, $2^{H_i^t[I]} \cap 2^{N_i^t[I]} = 2^{H_i^t[I] \cap N_i^t[I]}$, for any i = 1, 2, 3.

(2). Suppose that $E_i^t[I] \in \left(2^{H_i^t[I]} \cup 2^{N_i^t[I]}\right)$

$$\Rightarrow \left(E_i^t[I] \in 2^{H_i^t[I]} \right) \lor \left(E_i^t[I] \in 2^{N_i^t[I]} \right)$$

$$\Rightarrow \left(E_i^t[I] \subseteq H_i^t[I] \right) \lor \left(E_i^t[I] \subseteq N_i^t[I] \right)$$

$$\Rightarrow E_i^t[I] \subseteq \left(H_i^t[I] \cup N_i^t[I] \right)$$

$$\Rightarrow E_i^t[I] \in 2^{H_i^t[I] \cup N_i^t[I]}$$

$$\Rightarrow 2^{H_i^t[I]} \cup 2^{N_i^t[I]} \subset 2^{H_i^t[I] \cap N_i^t[I]}, \text{ for any } i = 1, 2, 3. \blacksquare$$

Example 2.1 Let $H = \{a, b\}$ and $N = \{c\}$ be two classical sets, then the neutrosophic sets of type-1, type-2, and type-3 are given by:

 $H_1^t[I] = \begin{cases} a + aI, & a + bI, \\ b + aI, & b + bI, \end{cases}, H_2^t[I] = \begin{cases} a, & aI, \\ b, & bI, \end{cases}, \text{ and } H_3^t[I] = \begin{cases} a, & a + aI, & a + bI, \\ b, & b + aI, & b + bI, \end{cases}. \text{ While }$ $N_1^t[I] = \{c + cI\}, N_2^t[I] = \{c, & cI\}, \text{ and } N_3^t[I] = \{c, & c + cI\}, \text{ we see that }$ $2^{H_2^t[I]}: \text{ 0 neutrosophic- element: } \underbrace{ \emptyset_2^t[I]}_{0},$

1 neutrosophic- element: $\underbrace{H_{2}^{t}[I]}{i} = \{a\}, \underbrace{H_{2}^{t}[I]}{2} \{aI\}, \underbrace{H_{2}^{t}[I]}{3} \{b\}, \text{ and } \underbrace{H_{2}^{t}[I]}{4} \{bI\},$ 2 neutrosophic- elements: $\underbrace{H_{2}^{t}[I]}{5} = \{a, aI\}, \underbrace{H_{2}^{t}[I]}{6} \{a, b\}, \underbrace{H_{2}^{t}[I]}{7} \{a, bI\},$ $\underbrace{H_{2}^{t}[I]}{6} \{aI, b\}, \underbrace{H_{2}^{t}[I]}{6} \{aI, bI\}, \text{ and } \underbrace{H_{2}^{t}[I]}{10} \{aI, bI\},$ 3 neutrosophic- elements: $\underbrace{H_{2}^{t}[I]}{11} = \{a, aI, b\}, \underbrace{H_{2}^{t}[I]}{12} \{a, aI, bI\}, \underbrace{H_{2}^{t}[I]}{13} \{aI, b, bI\}, \text{ and } \underbrace{H_{2}^{t}[I]}{14} = \{a, b, bI\}$ 4 neutrosophic- element: $\underbrace{H_{2}^{t}[I]}{15} = \begin{cases}a, & aI, \\ b, & bI\}, \text{ Also, we have,} \\ 2^{N_{2}^{t}[I]} : 0 \text{ neutrosophic- element: } \underbrace{M_{2}^{t}[I]}{0} \\ 0 \end{bmatrix}$ 1 neutrosophic- element: $\underbrace{N_{2}^{t}[I]}{1} = \{c, H_{2}^{t}[I]\} \{cI\}, \text{ and } \\ 2 \text{ neutrosophic- element: } \underbrace{N_{2}^{t}[I]}{1} = \{c, C, I\}. \text{ Now, } 2^{H_{2}^{t}[I]} \cup 2^{N_{2}^{t}[I]} \text{ Consists of } 24 \text{ neutrosophic} \\ elements. \text{ While } H_{2}^{t}[I] \cup N_{2}^{t}[I] = \begin{cases}a, & aI, \\b, & bI\\ c, & cI \end{cases}, \text{ and the neutrosophic power set } 2^{H_{2}^{t}[I] \cup N_{2}^{t}[I]} \text{ consists of } 64 \end{cases}$

neutrosophic elements, and consequently, $2^{H_2^t[I]} \cup 2^{N_2^t[I]} \neq 2^{H_2^t[I] \cup N_2^t[I]}$.

3 | More Difference and Symmetric Difference of Neutrosophic Sets of Type-1, ype-2, and Type-3 with their Properties

This section addresses to study of the difference between neutrosophic sets, and the symmetric difference between neutrosophic sets of three types with their properties.

Definition 3.1 Let $H_i^t[I]$, $N_i^t[I]$ be six neutrosophic sets of type *i*. Then the difference of neutrosophic sets of type *i*, defined by

$$H_i^t[I] \ominus N_i^t[I] = \left\{ x \colon \left(x \in H_i^t[I] \right) \land \left(x \notin N_i^t[I] \right), i = 1, 2, 3 \right\}$$

= { $(\exists x_1, x_2 \in H) \land (\exists x_1, x_2 \notin N)$, indeterminacy *I* such that $x = x_1 + x_2 I$ }

Theorem 3.1 Let $U_i^t[I]$ be a neutrosophic universal set of type i, $H_i^t[I]$, and $N_i^t[I] \subset U_i^t[I]$. Then:

- 1. $H_i^t[I] \ominus \emptyset_i^t[I] = H_i^t[I],$
- 2. $H_i^t[I] \ominus N_i^t[I] \subset H_i^t[I]$ and $N_i^t[I] \ominus H_i^t[I] \subset N_i^t[I]$,
- 3. $H_i^t[I] \ominus N_i^t[I] = \overbrace{N_i^t[I]}^c \ominus \overbrace{H_i^t[I]}^c$
- 4. $H_i^t[I] \ominus N_i^t[I] = H_i^t[I] \cap \widetilde{N_i^t[I]},$
- 5. $H_i^t[I] \cap N_i^t[I] = H_i^t[I] \ominus \left(H_i^t[I] \ominus N_i^t[I]\right),$
- 6. $H_i^t[I] \cup N_i^t[I] = H_i^t[I] \cup (N_i^t[I] \ominus H_i^t[I])$, and
- 7. $H_i^t[I] \ominus N_i^t[I] = H_i^t[I] \ominus (H_i^t[I] \cap N_i^t[I]).$

Proof.

1. Consider
$$x \in (H_i^t[I] \ominus \emptyset_i^t[I]) \Leftrightarrow (x \in H_i^t[I]) \land (x \notin \emptyset_i^t[I])$$

 $\Leftrightarrow (x \in H_i^t[I]) \land (x \in \widehat{\emptyset_i^t[I]})$
 $\Leftrightarrow (x \in H_i^t[I]) \land (x \in U_i^t[I])$
 $\Leftrightarrow (x \in H_i^t[I]) \land (x \in U_i^t[I])$
 $\Leftrightarrow (x \in H_i^t[I]), \text{ hence } H_i^t[I] \ominus \emptyset_i^t[I] = H_i^t[I]. \blacksquare$
2. Assume that $x \in (H_i^t[I] \ominus N_i^t[I]), \text{ for any, } i = 1,2,3$
 $\Rightarrow (x \in H_i^t[I]) \land (x \notin N_i^t[I])$
 $\Rightarrow (\exists x_1, x_2 \in H) \land (\exists x_1, x_2) \notin N, \text{ indeterminacy } I \text{ such that } x = x_1 + x_2I$
 $\Rightarrow (x \in H_i^t[I]) \Rightarrow H_i^t[I] \ominus N_i^t[I] \subset H_i^t[I]. \blacksquare \text{ The second part by the same argument.}$
3. Assume that $x \in (H_i^t[I] \ominus N_i^t[I]), \text{ for any, } i = 1,2,3$
 $\Leftrightarrow (x \in H_i^t[I]) \land (x \notin N_i^t[I]), \text{ for any, } i = 1,2,3$
 $\Leftrightarrow (x \in H_i^t[I]) \land (x \notin N_i^t[I]), \text{ for any, } i = 1,2,3$
 $\Leftrightarrow (x \in H_i^t[I]) \land (x \notin N_i^t[I]), \text{ for any, } i = 1,2,3$
 $\Leftrightarrow (x \in H_i^t[I]) \land (x \notin N_i^t[I]), \text{ for any, } i = 1,2,3$
 $\Leftrightarrow (x \in H_i^t[I]) \land (x \notin N_i^t[I]), \text{ for any, } i = 1,2,3$
 $\Leftrightarrow (x \in H_i^t[I]) \land (x \notin N_i^t[I]), \text{ for any, } i = 1,2,3$
 $\Leftrightarrow (x \in H_i^t[I]) \land (x \notin N_i^t[I]), \text{ for any, } i = 1,2,3$
 $\Leftrightarrow (x \in H_i^t[I]) \land (x \notin N_i^t[I]), \text{ for any, } i = 1,2,3$
 $\Leftrightarrow (x \in H_i^t[I]) \land (x \notin N_i^t[I]), \text{ for any, } i = 1,2,3$
 $\Leftrightarrow (x \in H_i^t[I]) \land (x \notin N_i^t[I]), \text{ for any, } i = 1,2,3$
 $\Leftrightarrow (x \in H_i^t[I]) \land (x \notin N_i^t[I]), \text{ for any, } i = 1,2,3$

$$\Leftrightarrow (\exists x_1, x_2 \in H) \land (\exists x_1, x_2) \notin N, \text{ indeterminacy } I \text{ such that } x = x_1 + x_2 I$$

$$\Leftrightarrow \left(\exists x_1, x_2 \notin \widehat{H} \right) \land \left(\exists x_1, x_2 \in \widehat{N} \right), \text{ indeterminacy } I \text{ such that } x = x_1 + x_2 I$$

$$\Leftrightarrow \left(\exists x_1, x_2 \in \widehat{N} \right) \land \left(\exists x_1, x_2 \notin \widehat{H} \right), \text{ indeterminacy } I \text{ such that } x = x_1 + x_2 I$$

$$\Leftrightarrow \left(x \in \widehat{N_i^t[I]} \right) \land \left(x \notin \widehat{N_i^t[I]} \right),$$

$$\Leftrightarrow \widehat{N_i^t[I]} \ominus \widehat{N_i^t[I]}, \text{ therefore, } H_i^t[I] \ominus N_i^t[I] = \widehat{N_i^t[I]} \ominus \widehat{N_i^t[I]}. \blacksquare$$

4. Suppose that $x \in (H_i^t[I] \ominus N_i^t[I])$

5.

$$\Leftrightarrow (x \in H_i^t[I]) \land (x \notin N_i^t[I]), i = 1,2,3$$

$$\Leftrightarrow (\exists x_1, x_2 \in H) \land (\exists x_1, x_2 \notin N), \text{ indeterminacy } I \text{ such that } x = x_1 + x_2I$$

$$\Leftrightarrow (\exists x_1, x_2 \in H) \land (\exists x_1, x_2 \in \widehat{N}), \text{ indeterminacy } I \text{ such that } x = x_1 + x_2I$$

$$\Leftrightarrow (x \in H_i^t[I]) \land \left(x \in \widehat{N_i^t[I]}\right),$$

$$\Leftrightarrow x \in \left(H_i^t[I] \cap \widehat{N_i^t[I]}\right), \text{ therefore, } H_i^t[I] \ominus N_i^t[I] = H_i^t[I] \cap \widehat{N_i^t[I]}. \bullet \right)$$
Suppose that, $x \in (H_i^t[I] \ominus (H_i^t[I] \ominus N_i^t[I])), \text{ for any, } i = 1,2,3$

$$\Leftrightarrow (x \in H_i^t[I]) \land (x \notin H_i^t[I] \ominus N_i^t[I]))$$

$$\Leftrightarrow (x \in H_i^t[I]) \land (x \notin H_i^t[I] \lor x \in N_i^t[I]),$$

$$\Leftrightarrow (x \in H_i^t[I]) \land (x \notin H_i^t[I] \lor x \in N_i^t[I]),$$

$$\Leftrightarrow (x \in H_i^t[I]) \land (x \in \widehat{H_i^t[I]}) \lor (x \in N_i^t[I]),$$

$$\Leftrightarrow (x \in H_i^t[I]) \land (x \in \widehat{H_i^t[I]}) \lor (x \in N_i^t[I]),$$

$$\Leftrightarrow (x \in H_i^t[I]) \land x \in \widehat{H_i^t[I]}) \lor (x \in H_i^t[I] \land x \in N_i^t[I]),$$

$$\Leftrightarrow (F_N) \lor (x \in H_i^t[I] \land x \in N_i^t[I]),$$

$$\Rightarrow x \in (H_i^t[I] \cap N_i^t[I]), \text{ therefore, } H_i^t[I] \cap N_i^t[I] = H_i^t[I] \ominus (H_i^t[I] \ominus N_i^t[I]). \bullet$$
6. Presume that, $x \in (H_i^t[I]) \lor (N_i^t[I] \ominus H_i^t[I])), \text{ for any, } i = 1,2,3$

$$\Rightarrow (x \in H_i^t[I]) \lor (x \in (N_i^t[I] \ominus H_i^t[I])), \text{ for any, } i = 1,2,3$$

$$\Rightarrow (x \in H_i^t[I]) \lor (x N_i^t[I] \land x \notin H_i^t[I]), \text{ for any, } i = 1,2,3$$

$$\Rightarrow (x \in H_i^t[I]) \lor (x N_i^t[I] \land x \notin H_i^t[I]), \text{ for any, } i = 1,2,3$$

$$\Rightarrow (x \in H_i^t[I]) \lor (x \in N_i^t[I]) \land (x \in H_i^t[I] \land x \in H_i^t[I]), \text{ for any, } i = 1,2,3$$

$$\Rightarrow (x \in H_i^t[I] \lor x \in N_i^t[I]) \land (F_N), \text{ for any, } i = 1,2,3$$

$$\Rightarrow (x \in H_i^t[I] \lor x \in N_i^t[I]), \text{ hence } H_i^t[I] \cup N_i^t[I] = H_i^t[I] \cup (N_i^t[I] \ominus H_i^t[I]). \bullet$$
7. Assume that $x \in (H_i^t[I] \ominus (H_i^t[I] \cap N_i^t[I])), \text{ for any, } i = 1,2,3$

$$\Rightarrow (x \in H_i^t[I]) \land (x \notin (H_i^t[I] \cap N_i^t[I])) \text{ for any, } i = 1,2,3$$

$$\Rightarrow (x \in H_i^t[I]) \land (x \notin (H_i^t[I] \cap N_i^t[I])), \text{ for any, } i = 1,2,3$$

$$\Rightarrow (x \in H_i^t[I]) \land (x \notin (H_i^t[I] \cap N_i^t[I])), \text{ for any, } i = 1,2,3$$

$$\Rightarrow (x \in H_i^t[I]) \land (x \notin (H_i^t[I] \cap N_i^t[I])), \text{ for any, } i = 1,2,3$$

$$\Rightarrow (x \in H_i^t[I]) \land (x \notin (H_i^t[I] \cap N_i^t[I])), \text{ for any, } i = 1,2,3$$

$$\Rightarrow (x \in H_i^t[I]) \land (x \notin (H_i^t[I] \cap N_i^t[I])), \text{ for any, } i = 1,2,3$$

$$\Rightarrow (x \in H_i^t[I]) \land (x \notin (H_i^t[I] \cap N_i^t[I])), \text{ for any, } i = 1,2,3$$

$$\Rightarrow (x \in H_i^t[I]) \land (x \notin (H_i^t[I] \cap N_i^t[I])), \text{ for any, } i = 1,2,3$$

$$\Rightarrow (x \in H_i^t[I]) \land (x \notin (H_i^t[I] \cap N_i^t[I])), \text{ for any, } i = 1,2,3$$

$$\Rightarrow (x \in H_i^t[I]) \land (x \notin (H_i^t[I] \cap N_i^t[I])), \text{ for any, } i = 1,2,3$$

$$\Rightarrow (x \in H_i^t[I]) \land (x \notin (H_i^t[I] \cap N_i^t[I])), \text{ for any, } i = 1,2,3$$

$$\Rightarrow (x \in H_i^t[I]) \land (x \notin (H_i^t[I] \cap N_i^t[I])), \text{ for any, } i = 1,2,3$$

$$\Rightarrow (x \in H_i^t[I]) \land (x \notin (H_i^t[I] \cap N_i^t[I])), \text{ for any, } i = 1,2,3$$

$$\Rightarrow (x \in H_i^t[I]) \land (x \notin (H_i^t[I] \cap N_i^t[I])), \text{ for any, } i = 1,2,3$$

$$\Rightarrow (x \in H_i^t[I]) \land (x \notin (H_i^t[I] \cap N_i^t[I])), \text{ for any, } i = 1,2,3$$

$$\Rightarrow (x \in H_i^t[I]) \land (x \notin (H_i^t[I] \cap N_i^t[I])), \text{ for any, } i = 1,2,3$$

$$\Rightarrow (x \in H_i^t[I] \land x \notin (H_i^t[I] \cap N_i^t[I])) (x \notin (H_i^t[I] \cap H_i^t[I])), \text{ for any, } i = 1,2,3$$

$$\Rightarrow (x$$

The following theorem gives us the generalization of De-Morgan's theorem in classical set theory in neutrosophic classical set theory.

Theorem 3.2 Let $U_i^t[I]$ be a neutrosophic universal set of type $i, H_i^t[I]$, and $N_i^t[I] \subset U_i^t[I]$. Then:

i).
$$\underbrace{\left(H_{i}^{t}[I] \cup N_{i}^{t}[I]\right)}_{c} = \underbrace{H_{i}^{t}[I]}_{c} \cap \underbrace{N_{i}^{t}[I]}_{c}, \text{ and}$$
ii).
$$\underbrace{\left(H_{i}^{t}[I] \cap N_{i}^{t}[I]\right)}_{c} = \underbrace{H_{i}^{t}[I]}_{c} \cup \underbrace{N_{i}^{t}[I]}_{c}.$$

Notation. It is appropriate to express of $\widetilde{H_i^t[I]} = 1 \ominus H_i^t[I]$, for any i = 1,2,3, where

 $H_i^t[I] \subset 1$, because all neutrosophic sets belong to considered space with full or 100% degree membership of 1.

Proof (1). Suppose that
$$x \in \overbrace{\left(H_i^t[I] \cup N_i^t[I]\right)}^c \Leftrightarrow x \in \left(1 \ominus \left(H_i^t[I] \cup N_i^t[I]\right)\right)$$

 $\Leftrightarrow \left(x \in 1 \land x \notin \left(H_i^t[I] \cup N_i^t[I]\right)\right)$
 $\Leftrightarrow \left(x \in 1 \land \left(x \notin H_i^t[I] \land x \notin N_i^t[I]\right)\right)$

$$\Leftrightarrow \left(x \in 1 \land \left(x \in \widetilde{H_{i}^{t}[I]} \land x \in \widetilde{N_{i}^{t}[I]} \right) \right)$$

$$\Leftrightarrow \left(\left(x \in 1 \land x \in \widetilde{H_{i}^{t}[I]} \right) \land x \in \widetilde{N_{i}^{t}[I]} \right)$$

$$\Leftrightarrow \left(x \in \widetilde{H_{i}^{t}[I]} \land x \in \widetilde{N_{i}^{t}[I]} \right)$$

$$\Leftrightarrow \left(x \in \widetilde{H_{i}^{t}[I]} \cap x \in \widetilde{N_{i}^{t}[I]} \right)$$

$$\Leftrightarrow x \in \left(\widetilde{H_{i}^{t}[I]} \cap x \in \widetilde{N_{i}^{t}[I]} \right)$$

$$hence$$

$$\widetilde{\left(H_{i}^{t}[I] \cup N_{i}^{t}[I] \right)} = \widetilde{H_{i}^{t}[I]} \cap \widetilde{N_{i}^{t}[I]} . \blacksquare$$

(2). By a similar method.

Definition 3.2 Let $H_i^t[I]$, $N_i^t[I]$ be six neutrosophic sets of type *i*. Then the symmetric difference of neutrosophic sets of type *i* defined by:

$$H_i^t[I] \odot N_i^t[I] = \{x: x \in H_i^t[I] \oplus x \in N_i^t[I], i = 1, 2, 3\}$$
$$= \{(\exists x_1, x_2 \in H) \oplus (\exists x_1, x_2) \in N, \text{ indeterminacy } I \text{ such that } x = x_1 + x_2 I\}$$
The symbol \oplus maps that the evolution of that is $x \in H^t[I]$ or $x \in N^t[I]$ but not both. In other work

The symbol \oplus means that, the exclusive or, that is $x \in H_i^t[I]$ or $x \in N_i^t[I]$ but not both. In other words, $H_i^t[I] \odot N_i^t[I] = (H_i^t[I] \cup N_i^t[I]) \ominus (H_i^t[I] \cap N_i^t[I])$ or $= (H_i^t[I] \ominus N_i^t[I]) \cup (N_i^t[I] \ominus H_i^t[I])$

Theorem 3.3 Let $U_i^t[I]$ be a neutrosophic universal set of type *i*. Consider $H_i^t[I]$, $N_i^t[I]$, and $M_i^t[I] \subset U_i^t[I]$. Then for any i = 1,2,3, we have

- 1. $H_i^t[I] \odot \emptyset_i^t[I] = H_i^t[I],$
- 2. $H_i^t[I] \odot H_i^t[I] = \emptyset_i^t[I],$
- 3. $H_i^t[I] \odot N_i^t[I] = N_i^t[I] \odot H_i^t[I]$,
- 4. $(H_i^t[I] \odot N_i^t[I]) \odot M_i^t[I] = H_i^t[I] \odot (H_i^t[I] \odot M_i^t[I])$, and
- 5. $H_i^t[I] \odot N_i^t[I] = \phi_i^t[I] \Leftrightarrow H_i^t[I] = N_i^t[I].$

Proof.

1.
$$H_i^t[I] \odot \phi_i^t[I] = (H_i^t[I] \cup \phi_i^t[I]) \ominus (H_i^t[I] \cap \phi_i^t[I])$$
$$= H_i^t[I] \ominus \phi_i^t[I]$$
$$= H_i^t[I]. \blacksquare$$

- 2. It is clear that by definition $H_i^t[I] \odot H_i^t[I] = \phi_i^t[I]$.
- 3. $(H_i^t[I] \odot N_i^t[I] = (H_i^t[I] \cup N_i^t[I]) \ominus (H_i^t[I] \cap N_i^t[I])$

$$= \left(\mathsf{N}_{i}^{t}[I] \cup H_{i}^{t}[I]\right) \ominus \left(\mathsf{N}_{i}^{t}[I] \cap H_{i}^{t}[I]\right)$$

$$N_i^t[I] \odot H_i^t[I].$$

The parts (4) and (5) by the same method.

4 | Conclusion

In previous work, I Presented the concepts of neutrosophic sets including universal, empty, compliment, and subsets, denoted as $H_i^t[I]$, where *i* equals to 1,2 or 3. I also explored neutrosophic operations and their properties, such as neutrosophic unions and neutrosophic intersections. In this article, I shall delve into additional materials and theorems related to these concepts and discuss neutrosophic and symmetric differences, including their properties.

Acknowledgments

The author is grateful to the editorial and reviewers, as well as the correspondent author, who offered assistance in the form of advice, assessment, and checking during the study period.

Funding

This research has no funding source.

Data Availability

The datasets generated during and/or analyzed during the current study are not publicly available due to the privacy-preserving nature of the data but are available from the corresponding author upon reasonable request.

Conflicts of Interest

The authors declare that there is no conflict of interest in the research.

Ethical Approval

This article does not contain any studies with human participants or animals performed by any of the authors.

References

- Smarandache, F. (2005). A Unifying Field in Logics: Neutrosophic Logic. Neutrosophy, Neutrosophic Set, Neutrosophic Probabilty and Statistics (Fourth ed.). American Research Press Rehobtoh. Retrieved from https://arxiv.org/pdf/math/0101228
- [2] Smarandache, F. (2015). Symbolic Neutrosophic Theory. Bruxelles, Belgium: EuropaNova asbl. Retrieved from https://fs.unm.edu/SymbolicNeutrosophicTheory.pdf
- [3] Smarandache, F. (2016). Neutrosophic Overset, Neutrosophic Underset, and Neutrosophic Offset. Similarly for Neutrosophic Over-/Under-/Off- Logic, Probability, and Statistics. Bruxelles, Belgique: Pons Editions. Retrieved from https://arxiv.org/ftp/arxiv/papers/160
- [4] Kandasamy, V. W., & Smarandache, F. (2006). Neutrosophic Rings. Hexis, Phoenix, Arizona.
- [5] Kandasmy, W. B., & Smaradache, F. (2006). Some Neutrosophic Algebraic Structures and Neutrosophic N-Algebraic Structures. Hexis, Phoenix, Arizona. Retrieved from https://arxiv.org/ftp/math/papers/0603/0603581.pdf
- [6] Al-Odhari, A. M. (2024). Basic Introduction of Neutrosophic Set Theory. Plithogenic Logic and Computation, 2, 20-28. doi:https://doi.org/10.61356/j.plc.2024.2327
- [7] Al-Odhari, A. M. (2023). A Review Study on Some Properties of The Structure of Neutrosophic Ring. Neutrosophic Sets and Systems, 54, 139-156. doi:DOI:10.5281/zenodo.7817736
- [8] Al-Odhari, A. M. (2023). Some Algebraic Structure of Neutrosophic Matrices. Prospects for Applied Mathematics and data Analysis (PAMDA), 01(02), 37-44. doi:https://doi.org/10.54216/PAMDA.010204
- [9] Al-Odhari, A. M. (2024). Axiomatic of Neutrosophic Groups. Sana'a University Journal of Applied Sciences and Technology, 2(2), 205-214. doi:https://doi.org/10.59628/jast.v2i2.793
- [10] Al-Odhari, A. M. (2024). The Computations of Algebraic Structure of Neutrosophic Determinants. Sana'a University Journal of Applied Sciences and Technology, 2(1), 41-52. doi:10.59628/jast.v2i1.691
- [11] Al-Odhari, A. M. (2024). Characteristics Neutrosophic Subgroups of Axiomatic Neutrosophic Groups. Neutrosophic Optimization and Intelligent Systems, 3, 32-40. doi:10.61356/j.nois.2024.3265

Disclaimer/Publisher's Note: The perspectives, opinions, and data shared in all publications are the sole responsibility of the individual authors and contributors, and do not necessarily reflect the views of Sciences Force or the editorial team. Sciences Force and the editorial team disclaim any liability for potential harm to individuals or property resulting from the ideas, methods, instructions, or products referenced in the content.